ASSEMBLY INSTRUCTION
SKU CODE: WF531191/WF531192

\\

AN
/\|\

/\\QQ
/

/A

[ 7







Part List (WF531191)

@Xl

/

Leg Shelf Bed

O =,
° )
o o o

Leg Shelf Bed

) /
Side Rail

/1de Rail

@Xl/

Long Support Shelf

Support Shelf

Xl

@/

Top Shelf

—

Top Shelf

Page: 3 OF 16




Part List (WF531191)

\ o \
Crossbar Crossbar
\ @ X2 ﬁ

Top Crossbar Front Drawer

e

Back Drawer Side Drawers

= 304 /
Bottom Drawers Support Drawers

Side Drawers

Page: 4 OF 16



Part List (WF531192)

Frame Side Rail

Xl

Support Shelf

Back Shelf

o N
Back Shelf

Back Shelf

@X4 m]]

Panel Crossbar

Panel Crossbar

@X2

Side Shelf

Page: 5 OF 16




Hardware List (WF531191)

OUTLOOK DESC

% Dowel @10*40mm

\\\\‘\3\
Bolts 1/4"*25mm

S Bolts 1/4"*50mm

Bolts 1/4"*70mm

Bolts 1/4"*100mm

Cross dowel 1/4"*13mm

Round head screw #8*40mm

Screws #6*15mm

Screws #8*30mm

Connecting Bolt

Connector Housing

Base L long

@@@&%@\’\@@\

Wood stops

Wheels

0]
¢
&

Allen key 60*22*4mm

Base V

Screws #6*12mm

N

Bolts 1/4"*60mm

©F=|@0PE|D)®|©|@|@|® @@ |0)|@(>)F

ASSEMBLY TOOLS REQUIRED (NOT INCLUDED)

PAGE 6 OF 15



PAGE 7 OF 16




PAGE 8 OF 16




©

PAGE 9 OF 16




PAGE 10 OF 15



02
01

\\\\\\

@\\\\\\\\\\\“\“\\
@\x\\\\\\\‘“‘“

©
9,

- .
-/ \\\R‘h\\w A
.\\.«ww\ .\

e

3

PA
G
Tor

16




STEP 10:

STEP 11:

PAGE 12 OF 16



STEP 12:

STEP 13:

PAGE 13 OF 16



PAGE 14 OF 16

STEP 15:




PAGE 15 OF 16




	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


